Reservedelsliste DCM572 BLOWER VAC 1

DetaljArtikelnummer Antal Artikelbeskrivelse

i

2
3

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33

90632092
90611830
90632027
90611829
90638746
90614555
90631881
90611828
90556361
90639117
90605748
90609997
90605734
90605686
90608646
90611827
90610773
90614091
90605685
90610298
N014681
90632660
90628769
90611527
330019-28
N510859
90631883
492141-00
90638101
90605688
90611771
330019-31
392023-01

1
28
1

HOUSING
SCREW
MOTOR
SCREW
GRILL

FAN SA
BELT COVER
SCREW
LOCK-NUT
COVER

CLIP

SPRING TORSION
CAM
ACTUATOR

WASHER THRUST

SCREW

NUT M4

PIN

TRIGGER
SWITCH

LEAF SPRING
HARNESS
FOOT

BELT

SCREW

GEAR CASE SA
BATTERY COVER
TIE

SCREW
SPRING

CLIP

SCREW
SENSOR

Almen beskrivelse

M4 X 25

M3x12 - T10 - Black

M3x12 - T10 - Zinc

Page 1

Ovrig
information

Reperationsi MARKEDE
&stmktion R
0
No
No

No



Reservedelsliste DCM572 BLOWER VAC 1

DetaljArtikelnummer Antal Artikelbeskrivelse

54
35
36
37
38
39
40

90637421
90632659
90634619
N491552
N473860
N462141
90635810

1
1
1

TUBE
TOOL

TOOL

BATTERY 3 X18V-9.0AH-162WH
CHARGER QW

SAFETY CAP

RATING LABEL

Almen beskrivelse

DCB547-XJ
DCB118-QW
EURO

Page 2

Ovrig
information

Reperationsi MARKEDE
&s(t)mktion R

No
No
No QW
No Qw
No
No QW



